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QUESTION 1

A client is implementing an S87xx Media Server with several G650 Media Gateways. They are concerned with
overheating in the equipment room, especially in the equipment power units. Which two conditions cause a G650 power
supply to initiate an emergency shutdown? (Choose two.)

A. overvoltage

B. overheating

C. undervoltage

D. high humidity

Correct Answer: AB

QUESTION 2

A customer is interested in having a VPN gateway such as a security gateway as part of their remote office solution.
Where in the existing network can VPN Service Units (VSU) be placed? (Choose two.)

A. Behind an access router

B. Behind an Avaya Media Server
C. In parallel with an existing firewall
D. In parallel with an Ethernet switch

Correct Answer: AC

QUESTION 3

An RFP for a Interactive Voice Response (IVR) unit and mid-sized communication system has been released. You are
responsible for determining the design solution. The RFP states that the IVR platform must be engineered to handle 135
25-second messages during the busy hour. You calculate this requirement to equal 47 ports. If you provide 47 ISDN
PRI trunks (two ISDN PRI facilities), which two traffic concerns must you consider? (Choose two.)

A. No trunk growth is available on the ISDN PRI facilities.

B. 47 active trunks overload the two ISDN PRI facilities, seriously affecting traffic load and call completions.

C. Considering there is only one channel for signaling, a backup D channel cannot be provided, affecting traffic if the D
channel fails.

D. ISDN PRI facilities direct from the central office limit the caller\\'s ability to connect to the proper resource, causing
increased usage.

Correct Answer: AC
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QUESTION 4

You are developing IP Telephony bandwidth requirements for WAN traffic between two S87xx sites. The client
estimates that simultaneous non-IP Telephony traffic will occupy 1.5 Mbps. In addition, they estimate that using G.729,
55 simultaneous IP calls need to be provided access to the WAN link. What estimated bandwidth will the IP Telephony
traffic add to the WAN traffic?

A. 1.5 Mbps

B. 275 Kbps

C. 1650 Kbps

D. 4675 Kbps

Correct Answer: C

QUESTION 5

A major call center outsourcer is in the process of implementing a disaster recovery location and is placing an S8500
Media Server configured as an Enterprise Survivable Server (ESS) at their backup facility. To successfully design a
solution that meets the customer needs for survivability and prioritization, what must be done when deploying and
administering the ESS servers? (Choose two.)

A. Avoid overloading the network resources with excessive call traffic

B. Avoid fragmenting the system so the ESS server controls as much of the network as possible

C. Ensure that the Manual Backup Server is configured in the priority list of each IP Server Interface (IPSI)

D. Ensure that every Local Survivable Processor (LSP) is aware of any G650 Media Gateways that will register to it in
the event of a network outage

Correct Answer:. AB
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